A hdrom komplex szdm:

#1: a + b-1
#2: c + d-1
#3: e + f£-1

Az Osszeglk:

#4: a+ bei+ (c+dl) + (e + £:2) =0

#5: a+c+e+i-(b+d+ f) =0
#6: b+ d+ £ =20

#7: a+c+e=0

A negyedik hatvényok Osszege:

4 4 4
#8: (a + b:1) + (c + d-i) + (e + £-31) =0
4 2 2 4 4 2 2 4 4 2 2 4
#9: a - 6+.a b +b 4+ ¢ - 6¢c +d +d + e - 6:.e -f + £ +
3 3 3 3 2 2
4.9.(a b - ab +c :d-c:d 4+ e-fe(e - f)) =0
4 2 2 4 4 2 2 4 4 2 2 4
#10: a - 6+.a b + b 4+ ¢ - 6c +d +d + e - 6e £ + £ =0
3 3 3 3 3 3
#11: a ‘b - ab + ¢ .d-cd + e -f-e-f =0

Az egyenletrendszer:

#12: b+ d+ £ =0
#13: a+ c + e =20

4 2 2 4 4 2 2 4 4 2 2 4
#14: a - 6.a ‘b +b +c¢ - 6:.c+d +d 4+ e - 6. -f + £ =0

3 3 3 3 3 3
#15 a b-ab +c¢c d-cd +e -f-e.-f =0
#16 f = -b - d
#17: e = —a — cC

4 3 2 2 2 2 2 2 2 2
#18: 2.a + 4.a .c - 12.a *b - 12.a -b:d + 6:a ¢ - 6-.a .d - 12.a+b -c
3 2 4 3 2 2

- 24.a-b.c-d + 4.-a¢c - 1l2.a-c+d + 2:b + 4:b .d - 6:b -c +



2 2 2 3 4 2 2 4

6:b .d - 12-bec -d + 4:-b-d + 2.¢c - 12.c -d + 2-d =0
3 3 2 2 3 2 2
#19: 2.a ‘b +a .d+ 3-a +bec + 3.2 .c-d - 2-a+b - 3.a:b .d + 3-a-b-c
2 2 3 3 2 3 2
3.a:b:d + 3-a+¢ +d - ad -Db ..c- 3:b .c-d + bec - 3:b-c-d +
3 3
2.¢c +d - 2.c-d =0

c + 3-d V3.c - d
#20 a = — A b =
2 2
c + V3-d )2 V3.c - d )2
#21: - +
2 2
2 2
#22: c + d
2. megoldas:
V3.d - ¢ V3.c + d
#23 a=———/¥—Ab=- ——
2 2
V3.d - ¢c 2 V3.c + d )2
#24 + —
2 2
2 2



